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What is the purpose of SMTP 

protocol 

 

SMTP protocol is used to send data 

between mail servers. 

What is the first step in the Merge 

Sort Algorithm 

 

The first step in the Merge Sort 

Algorithm is to split the dataset up 

into its individual items. 

What is the internet 

 

The internet is a vast network of 

networks, connected by cables and 

undersea wires. 

What is a switch 

 

A device that connects nodes 

together intelligently and reduces 

network traffic by sending data to 

the nodes where it is needed. 

What is the purpose of abstraction 

in computational thinking 

 

The purpose of abstraction is to 

simplify complex problems by 

focusing on the important aspects 

and ignoring the unnecessary 

details. 

Why is it important to have an 

agreed set of codes for characters 

 

Answer: It's important to have an 

agreed set of codes for characters 

so that all computer systems can 

behave in a similar way. 

 


